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Co. Cd HILETTE:

TREX Sg(FBHEIL 22 —) Eam(RRMEESR) TRBFEAT, A
10mL iEER (LR 4E), 5= B3R, B B R, [ BT R AR LRI, SRR
BR, IO 1mLEK, RIS BRI SR T SRR, RIARIR 1mL AAHT, 1@
NE=R AEEFKRENE 3 X, EFT 10mL FEHR+,&A.

Pb AURLERTT X!

TREX Sq(FREIG 22— ) At m(FIRMREIR) TREA GRS,
IR 3mL BHER(TUEREE), 2mL SNEK, BH TR T A ENIMET, 140°C, /5
2h, RAE=ER, N SEREHEFS=ER, RIARIR 1mL 2GR, iR, BE
BKRESE 3R, EFT 10mL FEMRS, FH.
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1o0BiR — 8%  #REX 2.09 DITEBHR — Sk , BAB T KERRRRE

100mL BER+ , BEXBEFKEREZE.
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(Mnm) (I/mA) (I/mA) (2A/nm) Yak:
Pb 283.31 3 80 0.2 4T
Cd 228.8 3 80 0.2 4T
Co 240.7 3 80 0.2 ST
Cd [A=EPHIEHEZ]
Fo o FHARE  GOREE  FHERNEGS) |, - .. B
= Al C) C) etz 1) s E= -
2 T 120 120 5 ® * hE  H
3 R4k 120 400 10 FF % M=
4 400 400 T % mE
5 A, 400 400 * x xR F
6 RFE 2000 2000 X X = FF
7 s 2200 2200 F * xR H
o i 0 0 2 % * mE
Pb [AEFHIEHEZ]
== Y= =N=1i=3 N=Tateey
= (@) (°Q) 3
1 Fig 40 120 30 FF ES e
2 Fi= 120 120 15 F % = FF
3 3 d 120 500 15 FF ¥ = F
4 AL 500 500 10 7F S hE
5 Bt 500 500 6 % % T
6 BEF 2000 2000 3 % % = FF
7 =17 2100 2100 2 FF % ThER
8 Al 0 0 18 FF % IES
9 gl 0 0 2 % x mE F
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1 Fig 40 120 30 F * & F
2 Fig 120 120 15 FF * & F
3 x4 120 500 15 7 % =
4 x4 500 500 10 7 % =
5 xiE 500 500 6 * x I
6 BEF4Y, 2600 2600 3 % % IR F
7 e 2700 2700 2 FF x PIES
8 pZAL 0 0 18 FF * hER
9 i 0 0 2 % * R F
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v WKE (ng/mL)
Pb 0 5.0 10.0 20.0 40.0
Cd 0 0.5 1.00 1.50 2.00
Co 0 2.5 5.00 10.0 15.0
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